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6. Write down steps involved in the creation of your
E-mail account in brief. 4

MY YA §—Hel @Il e & foay fei—fda
RN &I A HRd gY 99N ford |

OR (3121a1)
Enlist the areas where computer are applicable.

$YcR B SWIIRTAar 9 Gafea €9 &=l &1
Sl X |

GROUP -C

Answer all Three Questions.

i T gz @ Sax )

7. Explain memory hierarchy. Explain each in detail.

A9 & qIffevor B gusmy Grer 81 9
UHR & AAN @ TR 4@ 9af a3 |

3x5=15

OR (3121a1)

Explain all the steps involves into the “mail merge”
into the MS-office 2000

UH U9 JAfhd 2000 § A Hol” B b foIw
e faf= a~on @) faar 9 araar a1
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2019(Even)
Time : 3Hrs. Sem - 1 /11
Computer Fundamental
Full Marks : 50

Pass Marks : 20

Answer all 15 questions from Group A, each question
carries 1 marks.
Ju-A ¥ afl 15 Ul & SR T, TAS U BT A 13D 2 |
Answer all Five questions from Group B, each question

carries 4marks.

9B & @t ufg ueal & IR <, UAS U & 9H 43 2 |

Answer all Three questions from Group C, each question

carries 5 marks.

7u-C 9 wft 9yl & IR <, UAS U & A9 5 b 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TH U & O e BT SR U@ &) TR (AR & o)
BT AMRY, =41 4 Sifd T8 o ¥ahd © |

The figure in right hand margin indicate marks.
¥ ursd @ e QUile & qad 2 |
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GROUPB
Answer all Five Questions.
o . . 5x4=20
Hl ufg gl @ SR Q|
2. Enlist various devices of computer 4
$YeR o faffr=1 I3 &l Yfaag o |
OR(3721d1)
Explain in brief front and back part of system unit.
$c faved Jfic & we d 4% uid &l
qHeY |
3. What do you mean by www ? 4

www 3T T 93 B |

OR (3121an)

Discuss few formatting tools of office org.

AT, 3N AR St & @ouvT ged @) =4t

B |

N2013

(i)

(iii)

(iii)

(iv)
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<1 4 @ @19 39Yc dAT ATSHeye <Al
TR ® 7 & avg s &xar 2 |

(31) dI—arS

(3) Ta wpIv Hifer

(@) >R

(?) vara e

Which of the following windows version
support 64 bit processor?

(a) Windows 98

(b) Windows 2000

(c) Windows XP

(d) Windows 95

1 % @ 919 64— fdc yrawR o
ES 2 |

(31) fasior 98

() fasist 2000

(w) fasisr gaw bt

(g) fasis 95

Computer files can exist in folder but folder
cannot exist in a ................

(a) Paths

(b) Files

(c) Folder

(d) Documents

P.T.O
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(xii)

(xiii)

(xiii)

(xiv)

AT HFYeY WX e W HFYeY |
BIScll B RATFART B D1 ufpar
S ATl STl 2 |

(31) gt

(@) wrdfeT

(@) e < q

(%) STeHaIfST

Which one of the following is not a search
engine?

(a) Bing

(b) Yahoo

(c) Google

(d) Windows

frr 4 @ &9 91 e ad g 8 2
(31 favr

(@) arg

(|)

(2) fasiw

Verification of a login name and password is
known as

(a) Configuration

(b) Accessibility

(c) Authentication

(d) Loggin in

N2013

(vi)

(vii)

(vii)

(viii)

5 1602206/1601106/P1601106

UHde d Bl Bl YIIA..........
(31 %
(«) =
() +

(]) -

Which of the following is not an option of
the spelling dialog box?

(a) Ignore

(b) Ignore all

(c) Edit

(d) Change

=1 ¥ 9 @19 a1 faweu |
ST dfe A Gafa ) 27
(@) R

@) AR 3t

() ufse

() 99

Which function in Excel tells how many
numeric entries are there?

(a) NUM

(b) COUNT

(c) SUM

(d) CHKNUM

P.T.O
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8.

Explain various components of control panel in
windows 2000/xp in detail. 5

fasIst 2000/xp & dgid U°d & fafr= 3
¥ fawr 4 @9t a |

OR(3721dT)

Write down the advantages of using MS-office 2000
and open office . Org packages in detail.

U T A% 2000 T MU+ SN fhg .
3 IR off YW & ST A BIA drd
BrIel & fawar O ford |

Justify how computer system is advantagious for
database management and analysis system.

I T & Frgey Rived STE¥ ydgs
d fagcdyor yorrell & @ & 9 H DY
Sfaa 21

P.T.O
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Explain various components of control panel in
windows 2000/xp in detail. 5

fasIst 2000/xp & dgid U9d & A= A7
3! fawaR 4 =4t & |

OR (3721dT)

Write down the advantages of using MS-office 2000
and open office . Org packages in detail.

U T JATB 2000 TdAgT MU AFHA .
N IR off dod & STAT 4§ B4 dral
BrIEl & favar 9 fod |

Justify how computer system is advantagious for
database management and analysis system.

I T fF Fge RiveH STE¥ ydgas
Ud fagelyor yomell & oW @ ¥4 A »Y
Sfaa 21
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